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HH H EER
o= 2.2 84.5
A - B GEFAZ BRL) 1.8 64.7
-2 1Es 2.4 90.7
AFH - A A 0.7 63.7
EE B Z O 4.0 2177
FEE (R EE 1.6 54.2
2= 5% - R 2.4 86.2
2 iE 1.2 90.6
H(E 2.3 134.3
RS- 3k 2.5 74.1
HE 0.5/ 168.6
ST 5.3 99.5
Z DD K Y —E X 2.5 74.1
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Y ba [EYxXEE] RMIER

K2 T I IAT AL ARG S 0/ NGRS A i S

20244F2 H 23 H R 5 2024412 H 18 H I§ 55 202541 H 15 H I s 202542 H 20 H B AT | VT
R .. e b s o o g e o N o . | BIHM | BIAERIH
~ R VHAE ~Y RN LR ~J RN LA ~Y RN L (%) (%)

AH =Ry Za—t— (1F) 2,500.00 2.92 5,200 4.32 5,200 4.24 5,200 4.24 0.0 108.0

B = 7N N — T — (14#) 4,950.00 5.77 8,000 6.64 8,000 6.53 8,000 6.53 0.0 61.6

v <o 7tvh (1Bvh) 6,800.00 7.93 9,280 7.70 11,600 9.47 11,600 9.47 0.0 70.6

277 +21—7(1.50U L) 1,575.00 1.84 2,290 1.90 2,290 1.87 2,290 1.87 0.0 45.4

LX2T7—HV) (1Uy kL) 744.00 0.87 1,108 0.92 1,128 0.92 1,151 0.94 2.0 54.7

e (LU > L) 784.00 0.91 1,123 0.93 1,143 0.93 1,166 0.95 2.0 48.7

JEHiG RKEKH A (m3) 329.00 0.38 479 0.40 490 0.40 490 0.40 0.0 48.9

EEPE 2L | A B E (Toyota Corolla) 20,711,000.00| 24,152.77| 27,959,000 23,202.49| 29,657,000 24,209.80 30,339,000 24,766.53 2.3 46.5
ERBI (2o —EH (F)3ED) - - 1,920 1.59 1,920 1.57 1,920 1.57 0.0 -
TEDa SRk GRedkl42) - - 371 0.31 371 0.30 371 0.30 0.0 -
BBk R fEkk) - - 280 0.23 280 0.23 280 0.23 0.0 -
H SRR (R AERE) - - 757 0.63 757 0.62 757 0.62 0.0 -

MR T~ (144 57) 6,300.00 7.35 11,800 9.79 12,400 10.12 13,000 10.61 4.8 106.3

ZAR—Y LA B 29,000.00 33.82 50,000 41.49 50,000 40.82 50,000 40.82 0.0 72.4

i 1,000.00 1.17 2,500 2.07 2,600 2.12 2,600 2.12 0.0 160.0

2<—h7 4> (iPhone) 4,339,900.00f  5,061.11| 4,699,900  3,900.33| 4,046,600  3,303.35 4,046,600|  3,303.35 0.0 A 6.8

2~ —h 7+ (Samsung Galaxy) 2,419,999.00| 2,822.16] 2,589,999  2,149.38] 2,589,999  2,114.28 2,589,999  2,114.28 0.0 7.0

75 AR (1K) 1,290.00 1.50 2,290 1.90 1,590 1.30 2,290 1.87 44.0 77.5

EH (U RL) 1,106.00 1.29 1,365 1.13 1,365 1.11 1,295 1.06 A 5.1 17.1

FOEH (15m) 4,799.00 5.60 5,499 4.56 5,999 4.90 5,999 4.90 0.0 25.0

U7 a—2Z (1% 0) 8,999.00 10.49 14,219 11.80 15,499 12.65 17,445 14.24 12.6 93.9

A (1% 1) 1,999.00 2.33 2,779 2.31 2,779 2.27 2,779 2.27 0.0 39.0

FOP (14 —R) 3,800.00 4.43 4,400 3.65 4,750 3.88 4,700 3.84 A 1.1 23.7

U (HZ4H, 1.5U v L) 2,500.00 2.92 3,900 3.24 4,250 3.47 4,250 3.47 0.0 70.0

bR (1501) 1,400.00 1.63 1,080 0.90 1,150 0.94 1,159 0.95 0.8 A 17.2

AV —7"F AL (500ml) 11,607.20 13.54 14,445 11.99 14,445 11.79 14,445 11.79 0.0 24.4

/NER (1% 7) 999.00 1.17 1,025 0.85 955 0.78 1,025 0.84 7.3 2.6

#850, Rin/e [EPEA (15 1) X 4,700.00 5.48 6,528 5.42 4,995 4.08 4,500 3.67 A 9.9 A 4.3

ECERBLI == : . : . . -

Lz B RRZvwA—42—(@2Uyb) 1,305.00 1.52 1,650 1.37 1,073 0.88 1,650 1.35 53.8 26.4

i —/1 (473cc) P 1,240.00 1.45 1,690 1.40 1,755 1.43 1,559 1.27] A 11.2 25.7

e —L (1U> R L) 2,046.00 2.39 3,330 2.76 3,300 2.69 3,300 2.69 0.0 61.3

R A (750cc) 10,950.00 12.77 15,150 12.57 15,150 12.37 10,140 8.28] A 33.1 A 7.4

%7 — (400ml) 7,800.00 9.10 7,500 6.22 7,500 6.12 7,500 6.12 0.0 A 3.8

F LB (Smart TV 551 F) X 929,999.00(  1,084.55 2,069,999 1,717.84| 2,069,999  1,689.80 2,069,999|  1,689.80 0.0 122.6

J—hs3=z (Lenovo Thinkpad) 3% 2,607,825.00|  3,146.15| 4,369,499  3,626.14| 3,439,199 2,807.51 3,517,284  2,871.25 2.3 30.4

sy N P 839,499.00 979.01 753,999 625.73 753,999 615.51 699,913 571.36 A 7.2 A 16.6

VeV X 955,999.00(  1,114.87 1,232,999  1,023.24| 1,109,999 906.12 1,109,699 905.88 A 0.0 16.1

7 i P 1,140,000.00|  1,329.45| 1,574,999  1,307.05| 1,416,999 1,156.73 1,574,999  1,285.71 11.2 38.2

To= 7 a— X (BEH) 76,690.00 89.43 76,690 63.64 76,690 62.60 111,190 90.77 45.0 45.0

(D) YIS ER L ~OBF L — N, A A RS OB T L - T =22 NK DT b —L—h,
(F2) A==~ =y NEDF T A L 7Neffikg 2 & B,
(153) 2T ATH A SRS THE S RIETICE R DT B,

(A Y= bm
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